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A o T I FIAATHR & o= hrEd [hEl e

o1 §5 h1 2T Bl B
(1) 268%

2) 625%

(3) 20%

4) 12:5%

form am W araEfem srveit i il wer q@ (rms)
1A gl o AYATSA § TARH L Tehd b fIC AT
Tt & St ?

(ﬁzﬂ‘ﬁﬂ%

HTerEor o 3] 1 geadH (m) = 2-76 x 10726 kg
Sreesm e ky = 1:38 x 10-28 J K1)

(1) 2508x10*K

(2) 5016x10*K

(3) 8360x10*K

4) 1254x10*K

et got o Wy A g@ emgfa foeh wg ot
gy % gta TR (S B g % @ R

Ife gg AT U189 i AE 20 cm 7, d Gl AT
qTgd <l TS B

(1) 13-2cm
(2) 12-5cm
(3) 8cm
(4) 16 cm

foret weRTTHTY | % TRIGA (V) § A (T) & @19
foeror 7% W gWiT SEER Bl B | el A @
JTaET B @ S 1 Ufshan # 14 g fohu 7w SRt 31

sa%a\r;raa&ﬁﬁﬁmwagm%
! B
A
o —>T
w 2
) %
3) g
@ %

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

(1) 268%

(2) 6:25%

3) 20%

4) 125%

At what temperature will the rms speed of

oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :
Mass of oxygen molecule (m) = 2-76 x 10726 kg

Boltzmann’s constant kg = 1-38 x 10_23 J K_l)
(1) 2508x10*K
(2) 5016x10*K
(3) 8360x10*K
(4) 1254x10*K

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 132cm

(2) 12-5cm
(3) 8cm
(4) 16 cm

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

o

ﬁT

(1)

(2)

3

4)

N0 W Wl o
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g St 3rafies gfeliyr ¢ a1e, Fofishd ¥ Tfod, ‘o’
gduq Il (B n UREd 8) @ S B | 9 &
et 1 gueE sk g 1 A R | fe
HIF-G1 U1 [ 37 n o = & Tee hl gAr 8 ?

I—
@ 1
O —»n
I
@ T{
O —n

I
(3) T i
6) —n
I
(4) f i

O —n

(47 + 4-7) kQ feiy = fopH) he-afaues W, gga
% foru, fafer aurt & s <iferd fpr M 8 | avi @i
%1 SHH BT

(1) S — e — FRf — =i T

(2) W -7 - S - g

(3) e — S — A — =T o

(4) B0 —TRA — S — g

‘0’ FIuH Yfigehi o ag=, fSEH g & gy
R B, oofshn § fq.a1.9d (emf), ‘B’ 3N 3m=aftsw
uRrg, ‘R’ 1 foret S & St B | 9 & o T8
g7 I B | 319§ ‘n’ Uieehi bl UTed e | 3H} Sl
g frn S 1A S e e 10 I &
STt R | ‘n’ T HAE R

(1) 10
(2) 20
3 11
4) 9

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
each) which are connected in series. The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I—
@ !
(@) —>n
|
(2 T
(@) —n
I
3 T
0) —>n
I
@ !
(@) —n

A carbon resistor of (47 + 4:7) kQ is to be marked
with rings of different colours for its
identification. The colour code sequence will be
(1) Violet — Yellow — Orange — Silver

(2)  Yellow — Green — Violet — Gold

(3)  Yellow — Violet — Orange — Silver

(4) Green — Orange — Violet — Gold

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is I
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1) 10

(2) 20
3 11
4 9
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10.

11.

forelt ot poselt feamfiex &t g gunfear 5 div/mA
3R dieed! GaTfed1 (T T3 dleedl H 3cqa hivh
o) 20 div/V 2 | 39 Toaamie 1 gfadg 3

(1) 40Q
(2) 250Q
(3) 25Q
(4) 500Q

05 kg m_lﬂﬁmmmzﬁﬁﬁéﬁﬂ'@ﬁﬁ
&fas D¢ Bl Th o a9 W S Afas & 30°
T BV ST 7, TG AT R | 39 DS I 3@ A
T JeTEd hieht el Bk el fedn Jar S« 39 W
0-25 T ST %1 Frachid &7 Heater foem § el =t @
2 | 98 # for Ter % e sed arfea am @

1) 714 A

(2) 1476 A

(3) 598A

4) 11-32A

e R e % yai % o shgredE ggd 6

TH Udeh B8 Fearer o 7 | 9 foed-gree § g
YaTed i Al 8, A1 98 B &lis grashd & § q1a
ST H S bt & TTA 7 | T IHR T TS Tocd 1
feufae oot wea et B | W wE F fAw staves
Tl LT B

(1) fora &

(2) 3% % Uard hl A T

(3) grah &

(4) ﬁ@ﬁg;ﬁm&ﬁﬁﬁmﬁaﬁwmﬁw

20 mH &1 1§ I, 100 uF H1 61§ TLTE G5 50 Q
1 H1S Tfeieeh, fa.a1. s (emf), V = 10 sin 314 t
& forell @a @ 9oft § Tfora & | 39 ufwy # wifeq
DR

1) 079W
(2 274W
(3) 043W
4) 113W

10.

11.

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 40Q

(2) 250Q
3 25Q
(4) 500Q

A metallic rod of mass per wunit length
0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) 714A
(2) 1476 A
(3) 598A
4) 11-32A

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
potential The work

gravitational energy.

required to do this comes from
(1) the current source

(2) the lattice structure of the material of the
rod

(3) the magnetic field

(4) the induced electric field due to the
changing magnetic field

An inductor 20 mH, a capacitor 100 puF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1) 079W
(2) 274W
(3) 043 W
4 113W
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12,

13.

14.

15.

aﬁéﬁmwcmqﬁwaﬁ%%{ﬁwa&wﬁ
40 cm g W feuq 7 | FfQ 38 forar o1 g o o o
20 cm TIAFARG X fean S, @ gfafe feadt gl
T forenfya g smem 2
(1) 30 cm ST & T
(2) 30 cm TYU1 % I
3) 360m3ﬁ'UT@E;{
(4) 36 cm TYUI % I

¢ Fe-geEr o R mem A AT V = Vi @
T W@ g | TR e 59 foRpq-greshi atn W
foga-29 Qom +y 9 % oHfew 3 | 99 @

ferega-grarehla qT % Frachia & <o 6 foum gnft
(1) —zfam
2) -—yfem
(3) +zfem
4 —xfem

fortt Tt W 60 mA I UWT JaTRd HE W IH Wk |
Gfea greshi feafast it 1 91 25 md 3 | 30 W
T YTehed B

(1) 0138H
(2) 1-389H
(3) 13888 H
(4) 13-89H

foreht s & wered o1 srwads V2 SR fisw w1 w
30° 2 | 5" % @ orvads Ui H ¥ TH &l =G
et it 1 AR I T T 2 | TR FAE 9
Y9 T ATl Tl RIS T HIS G (U0 A I3
¥ WEkid g9 o IvEd) IH 9 W I @ie e,
Ife TS50 W 319 v %71 74 7

(1) 60°

(2) 30°

(3) 45°

4) A

12,

13.

14.

15.

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1) 30 cm away from the mirror

(2) 30 cm towards the mirror

(3) 36 cm away from the mirror

(4) 36 cm towards the mirror

An em wave is propagating in a medium with a
velocity ;)7 = V/i\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) - zdirection

(2) -y direction

(3) + z direction

(4) —xdirection

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 0138H
(2) 1389H
(3) 13888 H
(4) 13-89H

The refractive index of the material of a prism is
J2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) 60°
(2) 30°
(3) 45°
(4) zero
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16. T U diwy sm@ #, fEw dwed (V) 20V,
VBEZOHQHVCE:()%l IB,IcﬁTB%maﬁ

(1)
(2)
(3)
(4)
17.
(1)
(2)
(3)
(4)

18.

20V

Ip =40 uA, Ig =10 mA, =250

Ip =20 uA, I =5mA, B =250
Ip =25 uA, I =5mA, B =200

Iy =40 uA, Io=5mA, B=125

el p-n &Y SETE # T B | A9 H diEcH

shaet ogoshr (Fad) uferier ot wTfard et 2 |
p-n GfYr % gferiey o6t erfera & whear R |
el 7 Ty sl I9Tferd ohiar ® |

p-n A % THY V — I ATUeIeqor bt guferd st
2|

o o fou Tq el & waeH § il Y 1 fes A 3R

B 9ci H 39 YhR o¥ad fehal ST Hehdl &

Ae
Be

(1)
(2)

3)
(4)

f > y
s

A.B
A.B+A.B
A.B+A.B
A+B

16. In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The
values of I, Iy and B are given by

20V
(1) Ig=40uA, Ic=10mA, B =250
(2) Ig=20uA, Io=5mA, B=250
(3) Ig=25uA, Io=5mA, B=200
(4) Ig=40pA, Io=5mA, p=125

17. In a p-n junction diode, change in temperature
due to heating
(1) affects only reverse resistance
(2) does not affect resistance of p-n junction
(38) affects only forward resistance
(4) affects the overall V — I characteristics of

p-n junction

18. In the combination of the following gates the
output Y can be written in terms of inputs A and
B as
Ae L
Be [ o Y
(1) A.B
(2) A.B+A.B
3 A.B+A.B
4 A+B
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19.

20.

21.

AUFAR AT gere % fRHl TEAd g WIS
Agfad Th™ Y ¥ YA war & | e o
MU B0 ¢ W g 9 T foh wafda fRw st
Huafdd forul Th-gmt o oheeq § | fefafea o
H-a1 faened 39 feufa o v 2 2

(1) wafdd v gfad 8 3 gae fogq afew
YA % I o GHI B

(2) i=sin! (EJ
n
(3) wafdd Y gfad 7 3R soes fogq @fgwm
JATYH o et o oIead 8

(4) i=tan! (lJ
u

I % fgfer s o, fafedt & o9 9ok d, 2 mm @
qu f3rll & 9¢ 1 gl D %l 100 cm W@d §Y qUIGEA
A = 5896 A & JehISI T IUAN foRam TR B | I AR
Tt fop fihatt <At <hivfia =iters 0-20° 8 | a« (38T A 3
D & forw) fibsti Y Hivfia <t =l sget 0-21° w

& foru Tt & sffer 3 grehd =1 st B
(1) 18mm
(2) 21mm
(3) 19mm
4) 1'7mm

forelt @it sToad qugeie 1 v stadq s1fie
R it favigt 3= g, A seeh sTiigeas oF 6
(1) ®IhE gl 7 3R = w2 B

(2) iE g IAfH 3T =™ 521 7

(3) WiH gl Atk AR =™ Bl 2

(4) T g F 3N AE B &

19.

20.

21.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

(1) Reflected light is polarised with its electric
vector parallel to the plane of incidence

(2) i=sin! (1]
1)

(3) Reflected light is polarised with its electric
vector perpendicular to the plane of
incidence

(4) i=tan! (1J
1)

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to
be changed to

(1) 1-8mm
(2) 2:1mm
3) 19mm
4) 1-'7mm

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(1) small focal length and large diameter
(2) large focal length and large diameter
(8) large focal length and small diameter

(4) small focal length and small diameter
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22.

23.

24.

25.

Toret wafear fgqe =1 3w foreht Ut wiw At Aforenr
IS 39 H o forw fopam a7, foem Ay wey
I TS I Uiad! e grT aHTEifeTa foRam ST deha
21 27°C &y 9 W Ty I T=E 20 cm AW
73 cm B W g HUFTA TG 399 B 8 | Al waf
g &1 IERT 320 Hz 7, @1 g § & & 27°C W
an g

(1) 330 m/s
(2) 350 m/s
(3) 339 m/s
(4) 300 m/s

IS AT Ueh ! Ho qad 6l Bd  AHI 3 3TN
TS AEd Qreteh hl Wifd Jad &9 ¥ AT-dD 7fd 3
W e | e feufd @ 5 m g W 3Eh Mo Hb
T 20 m/s2 8 | gie Sl ATEdhIA &

1) 2ms
(2) 2s
3) ms
4) 1s

Ay Q % foreft foged s dfgert wenfar ¢ i

Ih A It 91 <l dfgehrent & e fer-aga sa

(1) ufgere & o= #t gt w FeR 72 e |

(2) ufgati & o= 6 g & A 6 STIHAA
BT 2 |

(3) dfgwiatl & ff= i gt % Washa: TgspATIA
Far g |

(4) dlghraTi o sT= ol gl o SYhATIUTAT BIaT 2 |

i3 golael formmaten @ fhet whEmm auar W H
Feaier fagd-e9 E # %5 4 7 g, h, frar g | o
e # ufemor smfaffa w@d gu swhr foum
Iohid L & STt 7 | TRl WietT o @
31 & Fealer gt h 9% 8 e e Sran @ | WeH
& e § fore o wm < go § solae g frd o
INRIRIRIR: DR

(1) <A

(2) 10 TAT Afesh

(3) 5T 3fH

(4) GHHA

22,

23.

24.

25.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 330 m/s

(2) 350 m/s
(3) 339 m/s
(4) 300 m/s
A pendulum is hung from the roof of a

sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s® at a distance of 5 m from the mean
position. The time period of oscillation is

1) 2ms

(2) 2s
3) ms
4) 1s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) independent of the distance between the
plates.

(2) proportional to the square root of the
distance between the plates.

(3) linearly proportional to the distance
between the plates.
(4) inversely proportional to the distance

between the plates.

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) smaller

(2) 10 times greater
(3) b5 times greater
(4) equal
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26.

27.

28.

29.

T & 91 MR Sefacha wen § wfawm 7w A feufe
A, B 3R C W s HArd AW K, K 3 K 7 |
AC & 317 2 7o 9 i feufa S W SB femmgem &

AT ACH A 3 | 99

(1) K, <Kg<Kg
(2) Kp<K,<Kg
3) K,>Kp>Kg
(4) Kg>Kjy>Kg
Th 3 Tl dled A W § | Wled Tid H oaeq
AT TS St (K,) 6 @8 gof Tk S

(K,) ft 8t 3 | Tt & T K, - (K, + K,) T 319
=l

(1) 7:10
(2) 10:7
3 5:7
4) 2:5

I3 3E T ok TTehrel H 70+t Tmfufa s1er < ufia:
qod &9 § YU B @ 8 | 39 Tl 1 GAHH THH
T@d g 3wl o & gfg i St ® 1 e % fon
ffefea & @ siA- Wifes afyr fer @l 2

(1) =hiofi o

(2) ool Thas Het

(3) iScd IATe
(4) R G

aﬁ{éwwﬂ%owﬁawmm
feories afmmr § 10 T &1, @ Frefafed & @ we-a
wEl 7T 72

(1) aut 6 4 excht W srferen aoft & e |

(2) Yt W WA AT 1 AT HH & ST |
(3) ol T ST 3Tfh hic &l S |

(4) Y=t W g’ % A H gfEdd T 8rm |

26.

217.

28.

29.

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Ky<Kg<Kg
(2) Kp<Kj<Kg
(3) Kp>Kg>Kg
4 Kg>Ky>Kq

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy
(K,) simultaneously. The ratio K; : (K; + K,) for

the sphere is

(1) 7:10
(2) 10:7
3) 5:7
4) 2:5

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Angular velocity

(2) Rotational kinetic energy

(3) Moment of inertia

(4) Angular momentum

If the mass of the Sun were ten times smaller
and the universal gravitational constant were

ten times larger in magnitude, which of the
following is not correct ?

(1) Raindrops will fall faster.

(2) Time period of a simple pendulum on the
Earth would decrease.

(3) Walking on the ground would become more
difficult.

(4) ‘g’ on the Earth will not change.
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30.

31.

32.

33.

Hﬁé%ﬁﬂwmmmq%ﬁﬁmw
fogd-a9 E %mﬁ%ﬁaﬁmwﬁﬁiw
W IAHE B | T VS &k Fald H 9d q E &
RO ZGHT AT 0 ¥ 6 m/s B MG 7 | I 0
-8 61 e Iopfid @ S R | 3w e %
E § R 3 S TehUS dh A Hdl Wl | 0 H
3 Tvs & o= fgeln wR &% shwd an i sfied
91 U 7

(1) 2m/s, 4m/s

(2) 1m/s, 3-5m/s

(3) 1m/s, 3m/s

(4) 1-5m/s, 3m/s
M HI 0 o frdl oot 3Md 951 ABC W m

SEIHT o1 IS sl AR e 8 | 39 o I grff
IR I @ ‘@’ feam Jrar 8 | saih O W feR

T & fu a 31 0 & ofi9 g9y g
A
2
a
0
C B
1) a=_—2
cosec 0

(2) a=gcos0

g
3 =
@ a=2

(4) a=gtan6
%

firg (2,0, - 3) WaH@ et F = 4] + 5] — 6k =
g (2, — 2, — 2) % af@: ATl &

A A A
(1) -8i-4j -7k

A A A
(2 -7i-8j -4k

3) —41-5 -8k

4) -71-4j -8k

Torelt B = 3TUTA T Y g % AT I AT 0-001 em
JeqaHT® I B W gRT | H&A 9 H A
5 mm 3R IAE M H I T Tad | 25 WA
SW 2 | A T A9 H I I - 0:004 cm B, A e
1 Hel A B

(1) 0521 cm
(2) 0053 cm
(3) 0-525cm
(4) 0-529 cm

30.

31.

32.

33.

A toy car with charge q moves on a frictionless
horizontal plane surfatg under the influence oga
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

(1) 2m/s, 4m/s

(2) 1m/s, 3:5m/s

3) 1m/s, 3m/s

(4) 1-5m/s, 3m/s

A Dblock of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6
for the block to remain stationary on the wedge
is

1) a=_—2
cosec 0

(2)

g
3 =
@ a sin 0

a=gcosH

(4) a=gtan® N

A A A
The moment of the force, F =41 + 5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -8i-4j -7k
A A A
@ -7i-8j -4k
A A A
(3 -4i -] -8k
A A A
4 -17i-4j -8k

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0521 cm

(2) 0053 cm

(3) 0525 cm

(4) 0529 cm
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34.

35.

36.

37.

Frafafaa @ 9 ®H-01 w99 @ 8 2

(1) < axu adf oo & %5 g g |

(2) = 5@ uferes i 1 forie e B |

(3) wfqe wdur &1 Hiwa w stfiers fdafskn &
SSHUTATA BTl B |

(4) =t ooy Tqures Y fermmd errars Y fomn % TwE
B E |

= fivg, A : (T 3™ @), B : (TH dact JARhR

Fdl) dA C : (Th JAHR Bgl), TFH TdH H

ZeqHHE M der B R 2, 99 iU o o 8 {9

gutufa o787 o qid: =shul X @ B | S fommeeen o

A % fu fohy S ol sTawEs wET (W) & fog

HIF-|1 TEY TE 7 ?

(1) We>Wg>W,

(2) Wp>W,>Wg

(3) Wu>Wg>Wg

(4) Wp>We>Wg

TSI m 1 Teh TS Tehl, 4m ZeAHH % feRel

TR R ek ¥ HHg AT § | HOE % UTET, gl

Teeh! oW fawen ® o SaT B | A Fooh Yk H

SRR 3T v &, 41 TeaHE Ol (e) 1 H &I

(1) 05
(2) 08
(3) 025
4) 04

M@ # 2T AR o1 h & =NvRfEd 99 & rgfew
o staEen @ W 9T IS fUvs, =@ AB = D &
FeafeR g i -3k U AT & | 79 ST h Feft

h B
o
l A
@ 3D
@) %D
3) D
@) ZD

34.

35.

36.

37.

Which one of the following statements is
incorrect ?

(1)

Rolling friction is smaller than sliding
friction.

(2)
3

Frictional force opposes the relative motion.
Limiting value of static friction is directly
proportional to normal reaction.

Coefficient of sliding
dimensions of length.

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed ®w about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) WC > WB > WA

(2) WB > WA > WC

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be
(1) 05

(2) 08

3 025

(4) 04

friction  has

(4)

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

B

)

A

<5

(1 =D

(2)

3 D

5p

4) 1
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38.

39.

40.

41.

A IR THE Yot & §9 8 3R Hi o Aad off e
2 | 78 AR I STIRY-HE F &TFA A IR W AR
H1 ITIA-FIE HT FABA 3A 2 | I IA F R
UE AR ! TS H Al Sl ghg T Il @, 91 gE d”
# T 7 oft saft @ 3fg FE F T R w9 R
STTEThT Bl 2

(1) 9F
(2) 4F
3) 6F
4 F

M g (1:013 x 10° Nm™2) 3R 100°C a9 W
0-1 g I % I &I 100°C ht 919 H giafda w &
AU 54 S ST S H AEIHAT BN & | IR
3I9F WY T AFAH 1671 cc B, A 38 I H
STafes ol § gfted 8

(1) 104:3J
(2) 42:2J
(3) 2087J
(4) 845J

foreht hforhr gro faferfa wife P 2 e @ e,
o W Ffeham ot faferRa et 7 1 o afe @

Skt 1 q gRafdd = e s 2, fee fe a8
%koaﬁésémaﬁwwﬁr%ﬁﬁw%,a‘r
T g fafohfd wferd nP &1 STt 8 | n o1 9 B
1 =

(2)

@ =

@ 3L

256
Brse o 1 g @Y Men formraen @ fohet W ga |
iR 8 | 99 oo & $RU A FSAT 39 BT B |
M & SAfm (efia) a9 | 3oqa o= il

fr=fafaa & & foraeh SpATUT Bret B 2
(D 2
(2) P
3)
(4) r*

38.

39.

40.

41.

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 9F
(2) 4F
(3 6F
4 F

A sample of 0-1 g of water at 100°C and normal
pressure (1-:013 x 10° Nm_z) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 104-3J

(2) 4224J
(3) 2087dJ
(4) 8454J

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ag, the power radiated by it
becomes nP. The value of n is

a 3

(2)

3 -

81

4) ==
@ 256

A small sphere of radius ‘r’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

1) e
@2 1°
3) 2
@
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42.

43.

44.

45.

AR ATV = Vol (Vg > 0) 3R ZH m
w1 Y P el REReT B - - By |
(B = e > 0) H t = 0 T Yoz a1 2 | Al Joew
# 30 goidgH hI STl aleed o) B, 9 §WE ¢ W
Tah! -5l e gt

Ao
(1+eEO t}

mV,

@ Mgt

(D

3) 2 (1+ e tJ

IIIVO
@ 2
foret Weamfea wered <l ared-amyg 10 fime § | =fe

AT | ifirenl i H&I 600 B, A1 450 TRl
forafea g9 o o aen wm (e ) 2

(1 20
(2) 30
3 10
4) 15

BIgSioM TATY] i fopelt s whenm # fonet g <Al
TTferst St IR IEEHT el oIl bl AT Bl B

1 1:1

2 2:-1
3 1:-1
4) 1:-2

Se fRel u1g % I8 W AEN 2v, (I v, gl
IR B) T TR I HIAT &, Al Iedfoid gerag it
1 AfUhad 9 v, 7 | 9 Ufaa fafmwr hii SR
FEH by, H G I @, Al I Y8 H Iedrd
Wqﬂﬁwaﬂvzﬁm%lvlﬁvzaﬂ
3T &
1 1
2) 4
3 1
2

1 2
01
14
4) 01

42.

43.

44.

45.

An electron of mass m with an initial velocity
;; =V, /1\ (Vo > 0) enters an electric field
}_E> =— Eoli\ (Ep = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

Ao

[1+ eEo tJ
mVO

@) At

(D

(3) 1 (1+ el tj

mVo

@ A

half-life is
10 minutes. If initially there are 600 number of

For a radioactive material,
nuclei, the time taken (in minutes) for the

disintegration of 450 nuclei is

(1) 20
(2) 30
3 10
(4) 15

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

1) 1:1
2 2:-1
3 1:-1
4) 1:-2

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy. When the frequency of the incident
radiation is increased to 5v,, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of v{ to vy is

1) 1:2
2 4:1
3 1:4
4) 2:1
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46.

47.

48.

49.

50.

frafafas & @ o-dt ifeags H gaifus et
Tepid B ?

(1) MgO

(2) BaO

3) BeO

(4) CaO

Ut e Uit # fafima 3

(1) UHemufEad 1 » 4 o999 a0 1 - 6 o-5Ed
2

(2) UfHEEfFA § 1 - 4 o8 A1 1 > 6 B 7

(3) UNAE H 14 o999 qA1 1> 6 p-au 8

(4) UfHAE T TE Tee™ | o1 8

2-3 g Wil A qAT 4-5 g STFATeTeh TFA ! TG
H,S0, § T3 am W 3cafsia e fasmr st KOH
% Bl ghel § TAN 1 8 | STP W &9 gY 39Q
T 9R (g #) g

1) 14
(2) 28
(3) 30
4) 44

forieh g Tera STTshn Sgael o deH # Fmfafea #

Y HI-G1 YT HGT 8 ?

(1» T fafim e sgos Juaet 6=
TEEASIh 3T B & |

(2) ShcTse TH AT 38 IS ¢ |

(3) %ﬁ?&m@ﬁ%@mu@%wﬁﬁ

|

(4) T TEAH A H TG HeHASh Y
BdF |

el 1 AR Yae ST wiemH § i W

m-TTEINelA ot ST 8 i

(1) wfieemes 6 ufeafa & amasg e T g
et m-feufd o & ST R |

(2) Ufaeuess 1 suledfa #§ g wHg wHE
m-fefq o Smar 7

(3) SoEgEEl wleeumw rfufear o Ui g
m-ﬁ%{W‘ﬁ%l

(4) o (vear) meam o el wfefifem smm
& w7 H A R |

46.

47.

48.

49.

50.

Which of the following oxides is most acidic in
nature ?

(1) MgO
(2) BaO
(3) BeO
(4) CaO

The difference between amylose and amylopectin
is

(1) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(2) Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage

(3) Amylose have 1—54 o-linkage and
1 — 6 p-linkage

(4) Amylose is made up of glucose and

galactose

A mixture of 2-3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

1 14

(2) 28

3 30

4) 44

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?

(1) They contain covalent bonds between

various linear polymer chains.
(2)
(3)

Examples are bakelite and melamine.

They are formed from bi- and tri-functional
monomers.

4)

They contain strong covalent bonds in their
polymer chains.

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(D

In spite of substituents nitro group always
goes to only m-position.

(2)

In absence of substituents nitro group
always goes to m-position.

(3) In electrophilic substitution
amino group is meta directive.

reactions

4)

In acidic (strong) medium aniline is present
as anilinium ion.
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51.

52.

53.

54.

Hqifieh A it Na & Affshan e ® 9 B a1 2 ao
PCly % |1 STTTHIT W Wag C a1 & | B W C
gl S g T R e W SRS 3R U
BaTg | A, BANMCHAT

(1) C,H,OH, C,H, C,H:Cl
(2) C,H,Cl, C,H,, C,H,OH

(4) C,H5OH, C,H;ONa, CoHCl

BIEgIhEA (A) S & gfaead= grr 3Tfrfshan oteh
% Uoha SmEE o @ S fR 9w srfufeen gm
et gregrpre # ftafda grar @ foem f6 =) @ @m
e T § | (A) 7

() CH=CH

(2) CH;- CH,

(3) CH,=CH,

4) CH,

o A C;H, ettt st 3 o 2 -

3Cl,/A Bry/Fe _ 7Zn/HCI
CHy —2—>A—2 >B= C

4) p-@"ﬁﬁ@i‘—l

arpriee § S v T e 26 @ it g
T HH-HT ATFTES TTETT Ygoh 757 8 2

(1) N,0,

2) N0

(3) NO,

4) NO

51.

52.

53.

54.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,H5OH, CoHg, CoH;5CI
(2) CyH;Cl, CoHg, CoH5OH
(3) CoH5OH, CoH;CI, CoH5ONa
(4) CyHzOH, C,H50ONa, CoH5Cl
(A)
substitution to form an alkyl bromide which by

Wurtz
hydrocarbon containing less than four carbon

Hydrocarbon reacts with bromine by

reaction is converted to gaseous

atoms. (A) is

(1) CH=CH
(2) CHs;-CH;j
(3) CH,=CH,
(4) CH4

The compound C;Hg undergoes the following

reactions :
3CL,/A

Bry/Fe _ Zn/HCI
A B

7Hg
The product ‘C’ is

(1) m-bromotoluene

(2) 3-bromo-2,4,6-trichlorotoluene

(3) o-bromotoluene

(4) p-bromotoluene

Which oxide of nitrogen is not a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) N,Oj
2 N,0
3) NO,
4) NO
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55.

56.

57.

58.

59.

X, Yo 3R XY I 37wy foRioH Sleti & Fuma
1:05:1 8 | XY & fwm i wdeht
AH = - 200 kJ mol™ B | X, I 31y forirsH ot
gt

(1) 200 kJ mol !

(2) 800 kJ mol !

(3) 100 kJ mol !

(4) 400 kJ mol !

S AfHRh hT TR Hwgar 1 g1 feha ST 2,
@ I Hife Atufshan & fou s1¢-o1y wa

(1) e grm 3

(2) o gar 2

(3) I 83

(4) IFaREfdd T 8

TTeE g TefieRtor § HNeE T ‘a’ Hetd 8
(1) 79 93Tl & oca 9§

(2) T el & He Iufedd fagd-aa &
(3) 9 33 & IGH &

(4) T S % HEY ATHYV TAl

Teiad arivyfsman
MnO, +Cy0% + H* — > Mn2* + CO, + Hy0

¥ o wafer w3 fo s % T8 T
3

MnO; C,07- H'
1 16 5 2
2 2 16 5
3 2 5 16
4 5 16 2

arfifsren & fafafga & @ -t aen stfteran 3ame
frmfor & fore sererf 2,

A, () + By (g) = X, (g)
(1) T3 a9 @ 3= T
(2) 3= MY Ud 3IA ¢
(8) T am wd T g
(4) 3= qM g = T

AH=-XkJ?

55.

56.

57.

58.

59.

The bond dissociation energies of X,, Y, and XY
are in the ratio of 1: 0-5 : 1. AH for the formation
of XY is — 200 kJ mol . The bond dissociation
energy of X, will be

(1) 200 kJ mol*
(2) 800 kJ mol*
(3) 100 kJ mol*
(4) 400 kJ mol*

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1) 1is halved
(2) 1istripled
(3) 1is doubled

(4) remains unchanged

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1) density of the gas molecules

(2) electric field present between the gas
molecules

(3) volume of the gas molecules

(4) forces of attraction between the
molecules

gas

For the redox reaction
MnOj +Cy02” + H'—— Mn®" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO, C,07~ H'
(1 16 5 2
2 2 16 5
3 2 5 16
(O 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay(g)+By(g) = Xo(g) A H=-XkJ?
(1) Low temperature and high pressure
(2) High temperature and high pressure
(3) Low temperature and low pressure

(4) High temperature and low pressure
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60. = fou U smw #H, ST H RO IR o

61.

62.

63.

iad fafim fa.ar. sa (emf) a1 W gwiian w2

- 182V - 15V
BrOy — BrO3 —— HBrO

Br <Toeszv B2 “1he5v
HH-E T ST & TR 8 ?
(1) BrO;
(2) Br,
(3) BrO;
(4) HBrO

CaH,, BeH,, BaH, 1 3™ Y&id &1 54 o

(1) BeH, < CaH, < BaH,

(2) BeH, < BaH, < CaH,

(3) CaH, < BeH, < BaH,

(4) BaHl, < BeH, < CaH,

form feufa o St o oTupsti it T fushay 8 ?

(1) 18 mL <t & foruw

(2) 1atmTd 273 KW 0-00224 L St 9157 & foTw
(3) 018 g9 & faQ

(4) 10739 I & fer

g ife we e wife srfufraneti @ ot faftmar &

(1) Yo" wife it Afifspn &1 9 stfiers 6t
rgaret Wt 98 wwar g; fedw @it f
arfurfspan w1 9 3l it Tt WAt
1 &

(2) vuW it i fulshan o 3Afa foram S whan
®; Ted wife it erfufsren =1 scifa & fopam <
AT &

(3) e whife i fufspan i srd-ary [A]) W i
T8 #; faa wife A sifufen Fr sdamy (A,
o faef B

(4) 9| Hife H AfuGrRm = 9 fiers Hi
rgarett | R s g; fgdia it 6 stfufsran
1 97 IfireRTeh hl Frgarat AR 9 s
H

60.

61.

62.

Consider the change in oxidation state of
Bromine corresponding to different emf values as

shown in the diagram below :

- 182V - 15V
BrO, — BrO3 ——> HBrO

Br < — B
Y T1o0652V U2 T1595V

Then the species undergoing disproportionation
is

(1) BrOg
(2) Bry

(3) BrOj
(4) HBrO

Among CaH,, BeH,, BaH,, the order of ionic
character is
(1) BeH, < CaH, < BaH,

(2) BeH, < BaH, < CaH,
(3) CaH, < BeH, < BaH,
(4) BaH,; < BeH, < CaH,

In which case is the number of molecules of water
maximum ?

(1) 18 mL of water

(2) 000224 L of water vapours at 1 atm and
273 K

(3) 0-18 g of water
(4) 1072 mol of water

The correct difference between first- and

second-order reactions is that

(1) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(2) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

(3) the half-life of a first-order reaction does not
depend on [A];; the halfllife of a

second-order reaction does depend on [A],

(4) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations
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64. fFfafga @ @ gfoeamet & -1 ywd & Ge # (64, Which of the following is correct with respect to
H-A1 TE 8 ? (R = Ufeewrdt) — I effect of the substituents ? (R = alkyl)

(1) -NHy<-OR<-F (1) -NH;<-OR<-F

(2) -NHy;>-OR>-F (2) -NH;>-OR>-F
3) -NRy;<-OR<-F (3) —-NRy<-OR<-F
4) -NRy>-OR>-F 4 -NRy>-OR>-F

65. Which of the following molecules represents the

65. AR 3 H A A ﬂ:&ﬁ i order of hybridisation spz, spz, sp, sp from left to

sp?, sp?, sp, sp U1 ST ST & ? right atoms ?

(1) HC=C-C=CH (1) HC=C-C=CH

(2) CH,=CH-CH =CH, (2) CH,=CH-CH =CH,
(3 CHy,=CH-C=CH (8) CHy=CH-C=CH

66. Tmfdfgd o @ wH-w1 FHEgTRA wdifgs TR | g0
Tfera 2 2

NO,

Which of the following carbocations is expected to
be most stable ?

(1) o

NO,
Y H
Y H
NOgy o
2
N H7©
Y ® (2) H
Y ©
NO,
NO,
o ()
(3) ﬁ
Y H
(4)

Y H

NO,
NO,
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67.

68.

69.

70.

TifEm & o (X) ¥ fufs we e
Aqffes sm@r B 1 A (X)) w1 Fmam oewem #
3@?{7‘&@%7&1'{1 152 2g2 2p3%,?ﬁ3'€-f?ﬁ'ﬁ'ﬁ?ﬂ
T g7 7

(1) MgyXy
2 Mg,X
(3) MgX,
(4) MggX,

T I FHE & T W bee T Bt & | 900°C &
IR I fec TCEAT | URGfdd &1 AT 8 | STRRA o HA
% 9 W TFed T 900°C A9 W Hed | 3TUTd &R
(W RIT ST 1 AR GeaHH Td AT s ar
% @y feer 8)

V3
® =

343
42
43
3v2
1

(4) 3

Frafafea @ & wH-a1 FuF orgeT 8 2

(1) ‘& ek H oG H1 HA helh IV Fam
T o S R |

(2) N T T FAFi b fo=md

1s2 252 2p)1( 2p}17 2pi

MO L R

(3) T et o daien Teaet 3 fifds & w=fe
T T H U IAdLH OR Fdied HEel §
ffie 2 |

4) d 2 % T m % AH YA B |

(2)

3

Frfafaa wiefie w faem Hifvw
CN*,CN~,NO @ CN

T O fohoehl S=qu ey HIfe B 2

(1) NO

(2) CN*

(3) CN~

(4) CN

67.

68.

69.

70.

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 15 252 2p3, the simplest
formula for this compound is

(1) MgyXy
(2) MgyX
(3) MgX,
(4) MggX,

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fcec structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

J3

1) X2
(D N

33
442

43
3v2
1

4) 0

(2)

6))

Which one is a wrong statement ?

(1) Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(2) The electronic configuration of N atom is
1s2 2s2 Zpi QP; Zp;

o LY

(83) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(4) The value of m for dZ 9 is zero.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) NO
(2) CN*
(3) CN~
(4) CN
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71.

72.

73.

74.

75.

76.

garHl & fou Fafafea 8 @ sH-a1 %91 a9 787

77?

(1) aft Tt T ST 3T ST ® |

(2) WA % IrcmEr @i gdTcHsh  SATaIe
FHereTd g & |

(3) wft arerefiehreh 3freRties & |

(4) AR 1 Falleeh s T80 T 7 |

Tferem M@ W wH # T@d gy fefafgd 6 9

HA-H Grg H I VG b Tq=RE H feRAm S

TRl & ?

(1) Fe

(2) Mg

3) Zn

(4) Cu

frafafad & @ yu 13 & o=l & wTfoges Breamatt @

HIH-HT HT TE B ?

(1) B<Al<In<Ga<Tl

(2) B<Ga<Al<Tl<In

B8) B<Al<Ga<In<Tl

4) B<Ga<Al<In<Tl

CIF; & &A1 § g T ‘ClP W THIhR IH|

3AFCAT ! T B

(1) T

(2) =X

3)

(4) d=

Nl o eh! STl STeEAT3T 1 oedl gall

EHET R

(1) HNOg, NO, N,, NH,Cl

(2) HNOg, NH,CI, NO, N,

(3) HNOg, NO, NH,CI, N,

(4) NH,CI, Ny, NO, HNO,

frafafea & @ s o= MFg’_ A T H
e g ?

1) Ga

2 B

3 Al

4) In

71.

72.

73.

74.

75.

76.

Which of the following statements is not true for
halogens ?

(1)  All form monobasic oxyacids.

(2) All but fluorine show positive oxidation
states.

(3) All are oxidizing agents.

(4) Chlorine has the
enthalpy.

highest electron-gain

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

(1) Fe

(2) Mg

(3) Zn

4) Cu

The correct order of atomic radii in group 13
elements is

(1) B<Al<In<Ga<Tl

(2) B<Ga<Al<Tl<In

(3) B<Al<Ga<In<Tl

(4) B<Ga<Al<In<TI

In the structure of ClF3, the number of lone pairs
of electrons on central atom ‘CI’ is

(1) one

(2) four

(3) two

(4) three

The correct order of N-compounds in its

decreasing order of oxidation states is
(1) HNOg, NO, Ny, NH,Cl

(2) HNOg, NH,CIl, NO, N,

(3) HNOg, NO, NH,CI, N,

(4) NH,CI, Ny, NO, HNO;4

Which one of the following elements is unable to
form MFg’ “ion ?

1) Ga
(2 B
3) Al
4) In
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71.

78.

79.

3q AffsRan

OH O™ Na*
@ + CHClg + NaOH ———> @CHO
4 HiFHfeTd SergieTel
@

(1) SRFANHIS g9 (CHCl )
)

(2) SRFARMEA FOME (CHCL,)

@
(3) WitHA 9= (CHO )
(4) eSEFARGE (:CCly)

FEAFE(AD A b FALAH GAged ATTH FoaHH
I Ufcegssl, ISl 9o I8 % foh Uchlgial 4
S BId 2 | I8 fohueh il gt & ?

(1) F=q:3nfueeh gEeioH 989 a1 °

(2) HIaTfedfcish Tl i AfYh AR TUE TS
JTed STTHYV Tl b gRT BT &

(3) HEIGFEAC AT o o4 H
(4) STUATTIH EESSH q67 a4 I

T Al 8 A, CgH; O 1 foh NaOI (Y i SAfufshan
NaOH & teh s ) 4 rfufshan e enerfirs

Ty 1ot fielT a8 2 @ |
A 3N Y AT B

HyC ) CH, - OH 3R I,
2) CH - CH, 3R I
- n-cnin,
OH

{ ) CH, - CH, - OH i1,

CH,

(4) CHg G OH 3T I,

(1)

(3

71.

78.

79.

In the reaction

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is
®
dichloromethyl cation (CHCl )

S]
dichloromethyl anion (CHCl,)

@
formyl cation (CHO )

(D
(2)

3

(4) dichlorocarbene (:CCly)

Carboxylic acids have higher boiling points than
aldehydes,
comparable molecular mass. It is due to their

(D
(2)

ketones and even alcohols of
formation of intramolecular H-bonding

more extensive association of carboxylic
acid via van der Waals force of attraction

3
4)

formation of carboxylate ion

formation of intermolecular H-bonding

Compound A, CgH,,0, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

H3C _Q_ CH2 —OH and 12
Q CH — CH3 and 12

|

OH

Q CHQ — CHQ —OH and 12
CH,

CHg G OH and I,

1

(2)

3

4)
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80.

81.

82.

83.

84.

Hiem 1 ¥ fqu MU arg Al @l wiem 11§ for mu
AR o TN gk ATEEn §  fiewy den
@1 "oha w1 fafdse Hifsre

FHicrd I FHicrd 11
a. Co* i. V8 BM.
) ii. /35 BM.
c. Fe* iii. /3 B.M.
d. Ni** iv. V24 B.M.
v. 15 B.M.
a b c d
1) iv v ii i
2) iv i ii iii
(3) i ii iii iv
(4) i v i ii
IR e, Fe(CO)s 3
(1) IJhehrgh
2) Feogs
(3) TUehohrgoh
4) fehss

[Ni(CO),] G I il we graehr ot 3
(1) o e S o s
(2) o THA STl T AT
(3) TgSHABR SATHIT Ta Sfagraehi
(4) TgTheTehd SATMHIG T SR

frefefad # @ S-o1 S d-d HshAOT guIfaT @ den
19§l ITIgreIched i ?

(1) Cr0F”

(2) MnO,

(3) Cr,02”

(4) MnO;~

"%l [CoCly(en),] G F&Rid HHTETEd! i FhN 3
(1) ST Tt

(2) AEAA gHTEIS

(3) SYHEHANS THTEET

(4) Sy ggTEREdn

80.

81.

82.

83.

84.

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column II
a. Co®t 1. J8 B.M.
b.  Cr3* ii. /35 B.M.
c. Fe3* iii. 3 B.M.
d  Ni%t iv. /24 B.M.
v. 15 B.M.
a b c d
1) iv v il i
@2 iv i ii iii
3 i ii iii iv
(4) i v i ii

Iron carbonyl, Fe(CO)jy is

(1) tetranuclear
(2) trinuclear
(3) mononuclear
(4) dinuclear

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) square planar geometry and diamagnetic
(2) square planar geometry and paramagnetic
(3) tetrahedral geometry and diamagnetic

(4) tetrahedral geometry and paramagnetic

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

1) Cr07
(2) MO,
3)  Cry02”
(4)  MnO%"

The type of isomerism shown by the complex

[CoCly(en)s] is

(1) Geometrical isomerism
(2) Ionization isomerism
(3) Coordination isomerism
(4) Linkage isomerism
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85.

86.

87.

88.

ffafiga foe@at = NaOH twd HCL i fig-fim
Hrgdrsli U 3Tl o {90 & s9mn T B

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

T4 © frgert pH, 1% SR 81 2
(1)
(2)
3
4)

o » o T

freafafes @ @ #9-8 0 W A At Thed &
it wedft 2 2

(1) <hact RE & A IRATT T

(2) A & A YA T AEY Fog gHl W

(3) haet 3TRF o ATHR W

(4) o IR & AT g |

BaSO, #1298 K W 5a # faerar 2-42 x 1073 gL™!
@ | Tt e (K ) T A &

(fea T 8 BaSO,, 1 #ieR e99H = 233 g mol 1)
(1) 108 x 1071% mol® L2

(2) 108 x 1071* mol? L2

(3) 108 x 10712 mol® L2

(4) 108 x 10 mol? 2

NH,, H,, O, @1 CO, % fou arst aew oo
HAM: 4-17, 0-244, 136 W 359 feu ww ¥ |
frafafea @ @ ®=H-H fg o e @ gfaa & S
77

(1) NH,

2 O

(3) H,

4) CO,

85.

86.

87.

88.

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60 mL M HCI + 40 mL iVI_O NaOH

10

b. 55 mL E HCI + 45 mLL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
(1
(2)
(3)
(4)

o » o T

On which of the following properties does the
coagulating power of an ion depend ?

(1) The magnitude of the charge on the ion
alone

(2) Both magnitude and sign of the charge on
the ion

(3) Size of the ion alone

(4) The sign of charge on the ion alone

The solubility of BaSO, in water is
2:42 x 107 gL_1 at 298 K. The value of its
solubility product (Ksp) will be

(Given molar mass of BaSO, =233 g mol 1)
1) 1-08x 10719 mol2 .72

2 1-08x 10 * mol? .72

(3) 1-08x 102 mol2 .72

4) 1-08x 10 mol? L2

Given van der Waals constant for NHg, H,, O,
and CO, are respectively 4:17, 0-244, 1-:36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) NHj4

(2) Oy

(3) H,

(4) COgq
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89.

90.

fafafga @ @ w9 Aife faeema s g
27?

(D
(2)
3
4)

Ffafaa SItfhan sj@en 4 ged 39 P, Q 3K R
aﬁq—s'aﬁ'?rq:

AICl,
© + CHyCH,CH,Cl ——3—»
@ 0,
—2 . Q+R
(ii) Hz0*/A
P Q R
CH,CH,CH;  CHO
wC) 0, onenon
CH(CHy), OH
@) @ @ CH;CH(OH)CH,
CH,CH,CH; ~CHO  COOH

(4)

OH
CH(CH,),
CH; — CO — CHj

89.

90.

Which of the following compounds can form a

zwitterion ?
(1) Aniline
(2) Benzoic acid
Acetanilide

3

(4) Glycine

Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous
AlCI,
© + CH4CH,CH,Cl ———3 >
(i) 0,
——2 __,Q+R
(ii) HzO*/A
P Q R
CH,CH,CH; CHO
(1) © @ CH,CH, - OH
CH(CH,), OH
2) @ @ CH,CH(OH)CH,
CH,CH,CH; CHO  COOH

(3

0.0

OH
CH(CH,),

£, on-co-cn,

4)

Q O
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91.

92,

93.

94.

95.

96.

Frafeafaa stfeet @ fha TR 1 wiitfeufaehi fitfire
greq TR S 2
Tgeere Suvierar : 120 g
Trifires UM : 60 g
T1fHeh 3caeeh : 10 g
(1) Sumr 1 3ol fifrs
(2) T 1 Hen fifis
(3) ot 1 s
(4) ST 7 Gy TR

Fefadt & o It 2 2

(1) HFAIL

(2) STETE i DS I AT hl T

(3) SHI

(4) Uk 3MEE ¥ AT & AW Tl il T&
forva 3o feaw e T STaT B 2

(1) 53

(2) 16 faarr

(3) 213w

(4) 2230«

THaUHSA H, WM % fashdier et srfuge

st i fogfea o fafafae & @ sqa o=

3NH % &9 U HE HLar @ ?

(1) EA

(2) Fe

(3) Cl

(4) TS

fFepa w2 2

(1) <fia = wafewor 4 oyt Sfas s

(2) TUHH HT 98 T AT Sd B @A U
=1y

(3) a8 Wifaes T ST&f s Sfaumdt & 7

(4) TS Sa grr fs T8 wRioRR e, SR a8
Tl 8

ffafed 4 @ ®F- T s Tgwe 2 2

(1 CO

2 S0,

3) CO,

4) O,

91.

92.

93.

94.

95.

96.

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g
Primary consumer : 60 g
Primary producer : 10 g
(1) Inverted pyramid of biomass
(2) Upright pyramid of numbers
(3) Pyramid of energy
(4) Upright pyramid of biomass

Natality refers to

(1) Death rate

(2) Number of individuals leaving the habitat
(3) Birth rate

(4) Number of individuals entering a habitat

World Ozone Day is celebrated on
(1) 5™ June

(2) 16th September

(3) 21° April

@ 22" April

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1) Carbon

(2) Fe

3 a

(4) Oxygen

Niche is

(1) all the biological factors in the organism’s
environment

(2) the range of temperature that the organism
needs to live

(3) the physical space where an organism lives

(4) the functional role played by the organism
where it lives

Which of the following is a secondary pollutant ?
(1 CO

(2) SO,

(3) COgq

(4) Og
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97.

98.

99.

100.

101.

102.

103.

HIRTHT va@T & NAD* 6t yfirst 51 2 2

(1) I8 T TI1eH o &9 § HE Hal 7 |

(2) ggq‘a.ﬁ.ﬁsﬁw%%?@maﬁa
|

IZ T Soiag 18 o €9 § R Ll 3 |
Ig AT YouT & forw eAf<m geeeld o
7

foraH TeRTT-HYANl § IS 7gT feherd! 2

(1) 9 gewt swdifan

(2) Gishpg

(8) TIEdlH

4) 3T

Fr=feifigd © & 991 9e9 Ty il T S b =qA
T ke wrary quitan @, fem &8 ff THgw % fom
AT Sfie =5k Ul g7 L TRl ?

(1) grigen

(2)

(3) IFH
(4)  reT

qTedi gl A8 1 ey fefefied § @ fom w9 |
BT R ?

(1) i

(2) g o

(3) w&

(4) ik IR & AT

frafafga @ @S- o= SRt § Thifd s=mu
@ % fore Ieeerh § 2

(1) A

(2) urefirm

(3) wifgTm

(4) Ffcrm

e = w8 2

(1) Th W FeA R IwR w A IS
Y G

Tl T R I Th 37 o Y T

(3) UH T I I a1 AT hrgehl o Y TAIA
(4) T GoRE SR FEeH

T T HT GEd § ANl % U g@ AsgeH § fhe
AU T HUSHOT {3 ST Eehal B 2

3
(4)

(2)

(1) -120°C
(2) -196°C
(3) -80°C

(4) -160°C

97.

98.

99.

100.

101.

102.

103.

What is the role of NAD* in cellular
respiration ?

(1) It functions as an enzyme.

(2) It is a nucleotide source for ATP synthesis.
(3) It functions as an electron carrier.

(4) It is the final electron acceptor for anaerobic

respiration.
Oxygen is not produced during photosynthesis by
(1)

Green sulphur bacteria

(2) Cycas
(3) Nostoc
(4) Chara

Which one of the following plants shows a very
close relationship with a species of moth, where
none of the two can complete its life cycle without
the other ?

(1) Hydrilla
(2) Banana
3)
4)
In which of the following forms is iron absorbed
by plants ?

(1
(2)
3)
4)

Which of the following elements is responsible for
maintaining turgor in cells ?

Yucca
Viola

Ferric

Free element

Ferrous

Both ferric and ferrous

(1) Magnesium

(2) Potassium

(3)  Sodium

(4) Calcium

Double fertilization is

(1) Fusion of two male gametes of a pollen tube
with two different eggs

(2) Fusion of two male gametes with one egg

(3) Fusion of one male gamete with two polar
nuclei

(4) Syngamy and triple fusion

Pollen grains can be stored for several years in

liquid nitrogen having a temperature of

(1) -120°C

(2) -196°C

(3) -80°C

(4) -160°C
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104.

105.

106.

107.

108.

109.

110.

111.

I FESTT TORGT T JFRU fohe TTaTeT H TR

BT 7 2

(1) TYeug

(2) UTfashH

(3) foug

(4) FHUg

Higs & fou Ffafea & & w-a1 w& 2 2

(1) fowfra gt wwifdremiati # o2 i g & |

(2) IgqH &4 H W AT R |

(3) ¥ fufa @ e 2 |

(4) I8 UgSEHA RNA H3wor 1 fopamsfier Toe
2

FrafaRad # & ®F-91 T qdehrgehl 787 @ ?

(1) dmrseT

(2) TIrs

(3) HIEHIGFIRTH

(4)  7iaIcIRET

Tl s iRl fred wifad 77 @il ?

(1)

(2)

3)

4)

o 1 ot § Ty 8 g B ?

(1) TR

(2) AR

(3) JFBhR

(4) TIARERR

IR % 1 AfrefiTeh SricHs F9g HH-9 8 2

(1) wEeifFad R ufie

(2) i 3 BEhe

(3) hETA R Al

(4) HEIHA R FTESHFIA

oSt Gty fred Wi ofar 8 2
(1) o9 37 & AIee o
(2) Sfamet ¥ vaea §

(3) @t gieamrsti & s H
(4) UHH o7 & | §

frefaftga § 9 SH-E1 Th TH-GTAN hl TR
SAf¥fsRaT &1 3ca1e 7ET B 2

(1) ATP

(2) NADPH

(3) NADH

(4) Oxygen

104.

105.

106.

107.

108.

109.

110.

111.

The stage during which separation of the paired
homologous chromosomes begins is

(1) Pachytene
(2) Diakinesis
3)
(4)
Which of the following is true for nucleolus ?
(1)
(2)
3)
4)

Diplotene
Zygotene

Larger nucleoli are present in dividing cells.
It takes part in spindle formation.
It is a membrane-bound structure.

It is a site for active ribosomal RNA
synthesis.

Which among the following is not a prokaryote ?
(1
(2)
3)
(4)
Stomatal movement is not affected by
(1
(2)
3)
4)
Stomata in grass leaf are
(1) Dumb-bell shaped
(2) Rectangular

(3) Kidney shaped

(4) Barrel shaped

The two functional groups characteristic
sugars are

(1)
(2)
3)
4)
The Golgi complex participates in
(1)
(2)
3)
4)
Which of the following is not a product of light
reaction of photosynthesis ?

(1) ATP

(2) NADPH

(3) NADH

(4) Oxygen

Saccharomyces
Nostoc
Mycobacterium
Oscillatoria

Temperature

O,y concentration
Light

COy concentration

of

hydroxyl and methyl
carbonyl and phosphate
carbonyl and methyl
carbonyl and hydroxyl

Fatty acid breakdown
Respiration in bacteria
Formation of secretory vesicles

Activation of amino acid
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112,

113.

114.

115.

116.

‘stiwite foreeh T SeuTfed 81 @ ?

(1) e fawrsa g

(2) SAFNHe g

(3) ¥ fawsa g

(4) AT g

g HUH I T

(1) “ggamar weg i i Shehfor Tema = fhe |

(2) TATHITET TG H 9T od 8 |

(8) e o ue fefew dmfies g fasnfa fomam manm
o |

(4) UTGRAYT S @IW TH. e A i o |

frafafega & @ F-a wm & Sfawd & w9 4

faferd <t 4 T Hifed g3 ?
(1) W fope

(2) dcfiT 3rEEa

(3) TAIE aTel F=d: =

(4) THROHRAAA

g gae I g :

(1) Ueh ShE - QEIFIEg ZEH!
(2) e BeEd IR Uh. WEd — 759 dl3a9
(3) orckhe W M mai=m - Hum

(4) THaaTE Jhd qAT o HAIS — & JATUTH

ST, & e SiaHld H IR SHI SEyem
foram gaTtem T o ?

(1) e b

(2) HeuH

(3) Sftamo

(4) foump &

112.

113.

114.

115.

116.

Offsets are produced by

(1) Meiotic divisions

(2) Parthenocarpy

(38) Mitotic divisions

(4) Parthenogenesis

Select the correct statement :
(1)
(2)
3)

Franklin Stahl coined the term “linkage”.
Spliceosomes take part in translation.

Punnett square was developed by a British
scientist.

(4)
Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Pollenkitt

(2) Oil content

3)

Transduction was discovered by S. Altman.

Cellulosic intine

(4) Sporopollenin

Select the correct match :

(1) Alec Jeffreys — Streptococcus

pneumoniae

(2) Matthew Meselson —  Pisum sativum
and F. Stahl

(3) Alfred Hershey and - TMV
Martha Chase

Francois Jacob and
Jacques Monod

4)

Lac operon

The experimental proof for semiconservative
replication of DNA was first shown in a

(1)  Fungus

(2) Plant

(3) Bacterium

(4) Virus

117. Frforfad & & frad 30% a7 F1d # Had & a8 117. Which of?the following flowers only once in its
e life-time ?
& Wb ! (1) Bamboo species
(1) =0 T (2) Mango
(2) ™ (8) Jackfruit
(3) hegd (4) Papaya
(4) gda 118. Which of the following pairs is wrongly
. . 2
118. Fmfafga # & wH-w 3w 7e77 &9 # gaferd & 2 matd;ed‘h . ke alle]
3 . - 1 . . M .
1) = # e g : S 223 Xigu;c synthesis in pea Gru t11})1e alleles
. ; ype sex rasshopper
(2)  XO e fom fi : ﬁg\a determination
@) ABO 1‘°|va A HEHTIST (3) ABO blood grouping Co-dominance
4) da SRS (4) T.H. Morgan Linkage
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119.

120.

121.

122,

guel WTehvT fehe B 8 2

(1) =&

(2) ™

(3) TEhg

(4) 9E7g

frafafiga & @ forem Shegopgerem aen sreEfifavmem
% ugETq s sfgstia &9 § 3w 8 8 2
(1) =eanT

(2) TIRHT

(3) 3R

(4) dImrseis

frefafad § & wH-w 7e77 w9 4 gAferd & 2

(1) TUHHIMGH JUh  —  GHTAEENT
(2) ST YT - HRET

(3) fTeopomfirs =ereiiomy) — R Sarat

(4) UhehITh el - FaRT

T I H & TE Hel o TaRd 11 B Hel 9 e hifse
i e feu U fosmedi @ @ @gt fawew =1 wA

HINT

&7y [ &7y 11
a. UG i 9iidd gredl o gt W
U 1 Ueh LI |
b ﬁﬁﬁ i, U &Td e s g} Sfa
=1 fafergee T Fd g SR
3T UgEH I g & foe
HiET Ui A §T TH A |
c. UUEAT il VT TAM ST 41T FYAT I
@R 3 TERR 09 W
YT T T@T AT 3 |
d. TUEE  iv. T Yieaewr fad o it gEh
(herat) 3R 37k foehed B1d & S
fafir anfeni it vg=m & &
"R B 8 |
a b c d
(1 i iv i i
2 i iv i i
(3 i i i v
(4 i v i i

119.

120.

121.

122,

Winged pollen grains are present in

(1) Mustard
(2) Mango
(3) Cycas
(4) Pinus

After karyogamy followed by meiosis, spores are
produced exogenously in

(1) Neurospora

(2) Agaricus

(3) Alternaria

(4)  Saccharomyces

Which one is wrongly matched ?

(1) Uniflagellate gametes — Polysiphonia
(2) Gemma cups —  Marchantia
(3) Biflagellate zoospores — Brown algae
(4)  Unicellular organism - Chlorella

Match the items given in Column I with those in
Column IT and select the correct option given
below :

Column I

It is a place having a

Column 1

a. Herbarium i.
collection of preserved
plants and animals.

b. Key ii. A list that enumerates

methodically all the

species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and

pressed plant specimens

mounted on sheets are
kept.

d. Catalogue iv. A booklet containing a list

of characters and their

alternates which are
helpful in identification of

various taxa.

a b c d
1 i iv 1ii ii
(2 i iv 1ii i
(3) iii ii i iv
(4) i iv i ii
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123.

124.

125.

126.

127.

128.

129.

feefioreft a9 @ fedioes g™ 3t welien fpad Scaa
B E 2

(1) sfideer favsan

(2) HISH

(3) HaEd U

(4) el fawsn
Y- fope Bieft § 2

(1) ey |

(2) wiETERY aredt |

(3) TIdA-IATTS TAGIg |
(4) SoHH g o

Tehiehe TehEehT T & 2

(1) 1

(2) W8 HA

(3) TqEATHS qA

(4) g

Fr=fefiga @ @ =9-a1 U &g ® 2

(1) SHgaeiir § deme sverm fafa gro aiteg
T B |

FiHded IAEAsS @ |

focifoder uh  fawmdfismy  aen ®, wEie
Gooif797 T THSISY] aTe 7 |

GrEhd N gy AT B HATURGET 9 ITenRad
B E |

TAT HAA I AT :

(1) haehl 3R UIQY A o He& § hifreh i
39feord 2t 8 |

TAUTNSAA | 91e T 3 W T hid hl
TS 2 |

BAeh! o1 TFY Sfifenmeds @ 7 |

T ol Bight aft Sfasrmal it wIfser o
TAHURIE Teh AFATE § |

el ufgat el Bl 8 ?

(1) Selcd=

(2) dohe

(3) i

(4) SA=a&ca=n

Iz I1ey -4 7 o fidtes gfg o o foegpa ==
et ?
6))
2)
(3)
(4)

(2)
(3)

(4)

(2)

3
(4)

i)

MR

qofaTel} STaasts
TT3heH

123.

124.

125.

126.

127.

128.

129.

Secondary xylem and phloem in dicot stem are
produced by

(1)
(2)
3)
(4)
Pneumatophores occur in
(1)
(2)

Apical meristems
Phellogen
Vascular cambium

Axillary meristems

Halophytes

Carnivorous plants

(3) Free-floating hydrophytes
(4) Submerged hydrophytes
Sweet potato is a modified

(1) Stem

(2) Tap root

3
(4)

Adventitious root

Rhizome

Which of the following statements is correct ?

(D

Ovules are not enclosed by ovary wall in
gymnosperms.

(2)
6))

Horsetails are gymnosperms.

Selaginella is heterosporous, while Salvinia
is homosporous.

4)

Stems are usually unbranched in both
Cycas and Cedrus.

Select the wrong statement :

(1)

Cell wall is present in members of Fungi
and Plantae.

(2)

Pseudopodia are locomotory and feeding
structures in Sporozoans.

3
(4)

Mushrooms belong to Basidiomycetes.
Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

Casparian strips occur in
(1)
(2)
(3)
4)
Plants having little or no secondary growth are
(1)
(2)
(3)
(4)

Epidermis
Cortex
Pericycle
Endodermis

Grasses
Conifers
Deciduous angiosperms

Cycads
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130.

131.

132.

133.

134.

135.

U faeeft wrot grn amee Y T 987 TR & U
(uereq) Toram T o, FEIT UE forei WA | o we
4 foemm 2 | g fore@ wrafaa 2 2

(1) Co-667

(2) < TS

(3) wEdl AHT

(4) STEEdt

HHE AR § €T % Th Iohe o HavH & Ty
FrafeiRed ® & HH-|1 daet FW=IG: Y Rt S
8?2
(1)
(2)

s (T )

A BT

(3) Tivnfsus

(4) pBR 322

e ST % I oTgafimha: ®q@id Sfai &
Yadd & SR § GIET o Hodiohd o ol qRd H hiH-A1
TS IR 7 2

(1) 9 e g™ uftvg (ICMR)

(2) 3TAfR YiETer sagH Afdfd (RCGM)
(3) dfe wd e g™ aftse (CSIR)
(4) STgafeR AMETEER Youe |fifd (GEAC)
@ gae i g

(1) TESSIEA —  fadeh A

(2 A.w=. 9= —  ORGRHT

(3) Fyx oWl Seh — fgoet id

(4) . A= — T

Ui @el AMfRAT (PCR) | =R &1 @&l A
Q2

(1) fowawon, fospeienton, SieH

(2) faepdieto, fowaon, swiem

(3) 3rfter, faeawon, faepdieto

(4) Taepdieton, e, foreawo

RS FEfE o wedl g fRE dm A swe
At s fomr orgEfta & SaEEnel % ST Sl
3T @17 2

(1) Ja-3gEa

(2)  J9-3EeH

(3) wHETSE (9 T=g)

(4) Sg-wor

130.

131.

132.

133.

134.

135.

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(1) Co-667

(2) Lerma Rojo
(3)
(4)

Sharbati Sonora

Basmati

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(D
(2)
3
(4)

Retrovirus

) phage

Ti plasmid

pBR 322

In India, the organisation responsible for

assessing the safety of introducing genetically
modified organisms for public use is

(1) Indian Council of Medical Research (ICMR)

(2) Research Committee on Genetic
Manipulation (RCGM)

(3) Council for Scientific and Industrial
Research (CSIR)

(4) Genetic Engineering Appraisal Committee
(GEAC)

Select the correct match :

(1) Ribozyme — Nucleic acid

(2) T.H. Morgan — Transduction

(3) FyxRecessive parent — Dihybrid cross

(4) G. Mendel — Transformation

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(D
(2)
3
4)

Extension, Denaturation, Annealing
Denaturation, Extension, Annealing
Annealing, Extension, Denaturation

Denaturation, Annealing, Extension

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(D)
(2)
3
(4)

Bio-infringement
Biodegradation
Biopiracy
Bioexploitation
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136. UMa A7 H UResfl <@ fohdeh g 399 T W T&dT|136. The transparent lens in the human eye is held in
22 its place by
(1) wemy #E 3 ﬂé W:"ﬁ Zm (1) ligaments attached to the ciliary body
(2) omsiE @ gt fas afmt g
(3) i@ @ :I!@ Q@\ﬁ Y (4) smooth muscles attached to the ciliary body
(4) UEAY HE A L ot UfE gra

(2) smooth muscles attached to the iris

(3) ligaments attached to the iris

137. Which of the following hormones can play a
significant role in osteoporosis ?

197. frferfaa & @ Fre ail B fergfva & mer| (g

Aldosterone and Prolactin

“ﬁgﬂ 27 (2) Estrogen and Parathyroid hormone

(1) TUcSeeUd Wd TreAfaed (3) Progesterone and Aldosterone

2) Q'{-_@GH e eTEiEe A (4) Parathyroid hormone and Prolactin

(3) HRFIH T TSRl 138. Which of the following structures or regions is

(4) YqATEUSS BHH Td TAfded incorrectly paired with its function ?

(1) Medulla oblongata : controls respiration
: . . and cardiovascular
138. F=fafed & @ wi-E TAT tyar &7 3us 1 | reflexes.

7T Ifma g ?

’ w3 IE (2) Hypothalamus :  production of

(1) rgen selieT ; v T ge R g releasing hormones

rifa we and regulation of
i ! temperature,

(2) TENSSHE . frfiem gtH &1 e T hunger and thirst.
AT9HT, & AT W18 bl (3) Limbic system . consists of fibre
fggv T | tracts that

) ) o interconnect

(3) faifess o= . g3 % &F S Aieash & different regions of
fofirr &= =1 TaE | Sed brain; controls
2. 7fq 1 = e | movement.

F6G Feimm ;9T ug o yuferss Myt (4) Corpuscallosum : band of fibers
@ AN L. ot connecting left and
REISEIS aﬁaﬁ 1 g | right cerebral
hemispheres.
139. f=fafiega o @ F-a1 gHH Wi st @ =gead g
39 139. Which of the following is an amino acid derived
: hormone ?
1 yEEPFIC
D (1) Epinephrine
(2) UESATd
(2) Estradiol
(3) UFETEEM
. (3) Ecdysone
(4) Tufegstia

(4) Estriol
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140.

141.

142.

143.

144.

T O HIF-HT YU 1 9T 7gT 8 2
(1) 9«1

(2) TR

(3) TTEATCH S

(4) AR

T S & HIfeT 59 HT 0 AGGTATCGCAT 2 |
8% g 3TIRad mRNA T Hefed shH &I BT 2
(1)  AGGUAUCGCAU

(2) ACCUAUGCGAU

(3) UGGTUTCGCAT

(4) UCCAUAGCGUA

T I H & TS Al o &R 11 bl wel 3 e hifs
R = fau U foedi § @ &g fawew 1 WA
sifsr

Ty | =y IT
a.  SYUGHAd UIEEAT i, TR 7% o foered
b. @l g ii. geehra grerE
c. RgEE iii. drafyus graer
a b c
(1) iii ii i
) ii iii i
3) i iii ii
(4) iii i ii

M & i & sgEr fowm i frafafy fra yr
Bt 7 ?

(1) SFOT Seaiaaq

(2) ifireh g9 TEY gitEdq (Seored) fafererar)
(3) deeIH

(4) Y I

T Tt % T X R H X-G TG B | I8 TR
fopl Srsmrra & 2

(1) haet go=

(2) hael dar-difer /Ard-rfest &

(3) had g W

(4) 9 wd g el A

140.

141.

142.

143.

144.

All of the following are part of an operon except
(1)
(2)
3)
(4)

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding

an operator
an enhancer
structural genes

a promoter

sequence of the transcribed mRNA ?
(1) AGGUAUCGCAU
(2) ACCUAUGCGAU
(3) UGGTUTCGCAT
(4) UCCAUAGCGUA

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column II

Breakdown of
endometrial
lining

a. Proliferative Phase 1.

b.  Secretory Phase ii. Follicular Phase

c.  Menstruation iii. Luteal Phase
a b c

(1) i ii i

(2 i iii i

3 i iii ii

(4) iii i ii

According to Hugo de Vries, the mechanism of
evolution is

(D
(2)
3
(4)

Multiple step mutations
Phenotypic variations
Saltation

Minor mutations

A woman has an X-linked condition on one of her

X chromosomes. This chromosome can be

inherited by
(1)
(2)
3)
(4)

Only daughters
Only grandchildren
Only sons

Both sons and daughters

ALHCA/WW/Page 33

TF T o T8 UM / SPACE FOR ROUGH WORK

Hindi/English



145.

146.

147.

148.

149.

150.

e T H Hest g G=ftd O] % HROT oTEieRT
gl o feweprelt Y Icaet B @ 2

(1) ot

) forad

(3) uEiUfEam

(4) mffoufim

fefefiga saer fam & IeEwn 4 9 7era oy
T FIT HINT :

(1) HHd, TS T =idl o 3WUTE

(2) <HEE, AT Td <idl sl AieTsh

(3) =WIGE, A Td =dl &6

(4) ATFIYH, TATCE Ud HH hl G

Frafafiga & @ wH-a1 Toufaen o 7587 2 2

(1) =il

(2) USSR T

(3) FHII Hitmy

(4) fafefam

Ih HIATH & IUURE hl I WEAT H GHEAT
foreehT 3gTET & ?

(1) GESTddT

(2) I foE

(3) qeIwydan
(4)  3Tget fafero

39 % @ W OEACU U IR TSl UV &l
forereht gfg & hror Brelt B 2

(1) faerfm D

(2) ToeIftH By,

(3) faarfm A

(4) foafim E

Frafafaa siftraeett § @ S8 a7s7 § Sfm ant i
agmfa’ ! g9ria & 2

geTferar

EREEIEKI

EREENIS]

31quT i

CESIEIENIUIT

b,c@e

b, dTd e

a,bQ_Oic

a,cQ_Oie

o a0 T

(1)
(2)
3
(4)

145.

146.

147.

148.

149.

150.

In which disease does mosquito transmitted
pathogen cause chronic inflammation of
lymphatic vessels ?

(D
(2)
3
(4)

Among the following sets of examples for
divergent evolution, select the incorrect option :

(D

Elephantiasis
Ringworm disease
Ascariasis

Amoebiasis

Forelimbs of man, bat and cheetah

(2) Brain of bat, man and cheetah

(3) Heart of bat, man and cheetah

(4) Eye of octopus, bat and man

Which of the following is nmot an autoimmune
disease ?

(1) Psoriasis

(2) Alzheimer’s disease

(3) Rheumatoid arthritis

(4) Vitiligo

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1) Homology

(2) Convergent evolution

(3) Analogy

(4) Adaptive radiation

Conversion of milk to curd improves its

nutritional value by increasing the amount of

(1) Vitamin D

(2) Vitamin By,

(3) Vitamin A

(4) Vitamin E

Which of the following characteristics represent

‘Inheritance of blood groups’ in humans ?
a. Dominance

b Co-dominance

c.  Multiple allele

d. Incomplete dominance

e Polygenic inheritance

(D)

b,cand e
(2) b,dande
(3) a,bandc
(4) a,cande
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151.

152.

153.

154.

155.

frefefiga o @ fafepcan fasie § wfdsfass & 3cure
g wmfse i S TREAie Bhar sgan SEm
Tt B ?

(1)  @@wIisHar
(2) Stiferar
(3) ERIIERINT
(4) wHATTSH

fafafad § 9 H9-a1 ‘SreraE e’ § 7787 3 ?

(1) T=-Sfa T%R dTeh
(2) dHEaldh 3TN
(3) Yfe 3qaq

(4) & =

TR [ 8§ € 78 Al o1 &avY 11 <l Hel 8 faee s
3 i feu U fosedi & @ @g fawew =1 w9

HIRTT -

&y [ &y 11

a.  gUmN i. UV-B fafero

b. &fed oefha i, S

c. Temrad (VN sEeE) il W9 dgig

d. FuEd iv. smufirse faem
a b c d

(1) i i iii iv

(2) i iv i ii

(3) i iii iv ii

4) i ii iv iii

T <1 I Fedl g3 SEe §

(1) SFE AT SHem safsedl 8 31 2id 2 |

(2) THEH T THYd Afe g& H s B
g1

(3) W SAfSe IR SAfsedl | %0 8 3 |

(4) Y A FeH SAfAT ¥ A 8d © |

“Tep” ATk g U1 WY o foRE 9T | TS BT R 2

(1) Fi ¥
(2) T A
(3) oeFm ¥
(4) Ui @

151.

152.

153.

154.

155.

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(1) Commensalism

(2) Parasitism

(3) Mutualism

(4) Amensalism

All of the following are included in ‘Ex-situ

conservation’ except

(1) Wildlife safari parks
(2) Botanical gardens
(3) Sacred groves

(4) Seed banks

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a. Eutrophication i. UV-Bradiation
b.  Sanitary landfill ii. Deforestation
c. Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
1 i i iii iv
(2) il iv i ii
3 i iii iv ii
4 i ii iv iii

In a growing population of a country,

(1) pre-reproductive individuals are more than
the reproductive individuals.

(2) reproductive and pre-reproductive
individuals are equal in number.

(3) reproductive individuals are less than the
post-reproductive individuals.

(4) pre-reproductive individuals are less than

the reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Flowers
(2) Roots
(3) Latex
(4) Leaves
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156. GHdr sl 99T WA % iU 39U -8 gEiE wifad

A B ?

(D
(2)
3
4)

hCG, hPL, TIS&eH, atfae
hCG, hPL, NS, TEISH
hCG, hPL, TegieH, freifea, safeaeitea

hCG, JISEENH, TEISH, '('LdolchTré*Tss

157. mifQus ‘Tl

(D

(2)
3

(4)

TUIY § TEISH UTEl 1 3Ta%g idl & Ud ISl
o U7 ! Tehel! B |

T IUD? |

el § TeINA I Figdl # gl 8 T
srereEnt & Uehdl 8 |

T qvE-HYH MHFRIG 7 |

158. Taurft Y1 At yureTer gt 3oa foped St 7 2

(1)
(2)
3
(4)

FTRIcaT T RIS
AEISTTER T JI¥heh

STECTT TF HEISTE

STelca= Ug I{dcead

159. YEHIUEHA Td YEhIUREH (Tafiuee) § I = 7 ?

(D

(2)

3

(4)

IS IO S &, STl b |
1] S & |

YGRS H IGRIST T Helelt ShIfsreRIst &
WehoRs Afrhien H it # OHeA B R,
ek YhE H Yh1Y] S § |

LS H ORI G E, T LI A
T 4 |

LIS I S &, FElh R A
YEIUST 1 HICt  HIRTRIST & IehoHs
AfcreRtadl i feeht | Hied BT B |

156. Hormones secreted by the placenta to maintain

pregnancy are

(D
(2)
3
(4)

157.

(D

(2)
6))

4)

158.

from

(D
(2)
3
(4)

159.

The difference between

hCG, hPL, progestogens, prolactin
hCG, hPL, progestogens, estrogens
hCG, hPL, estrogens, relaxin, oxytocin

hCG, progestogens, estrogens,
glucocorticoids

The contraceptive ‘SAHELT

blocks estrogen receptors in the uterus,

preventing eggs from getting implanted.
is an IUD.

increases the concentration of estrogen and

prevents ovulation in females.

is a post-coital contraceptive.

The amnion of mammalian embryo is derived

ectoderm and mesoderm
mesoderm and trophoblast
endoderm and mesoderm

ectoderm and endoderm

spermiogenesis and

spermiation is

(D

(2)

3

4)

In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.

In spermiogenesis spermatozoa from sertoli
into the

seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.

In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are
released from sertoli cells into the cavity of

seminiferous tubules.
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160. fr=fefad & 9 -1 fashey shaT: eaT 3R araehifa [ 160. Which of the following options correctly

P e S aofar & 2 represents the lung conditions in asthma and
i St 1 2 aﬁ = ) BE emphysema, respectively ?
(1) et & Qﬁg; el Eeg H Pt (1) Inflammation of bronchioles; Decreased
(2) vaEd gag § srirear; veEteR § sy respiratory surface

st e 6 wfued vaed : (2) Increased respiratory  surface;
®) B — il H St wE W Inflammation of bronchioles

(3) Increased number of bronchioles; Increased

(4) veEdt g § HHY; Tl | respiratory surface

] . T A (4) Decreased respiratory  surface;
161. I 5 & ¢ Wl 1 NN 1L 1 et & Inflammation of bronchioles
IR = few MU fowmewt @ @ @E? famew w1 =

£ 161. Match the items given in Column I with those in
' Column IT and select the correct option given
I w11 below :
a. TracH wae i. M Iferg wd e fem Column I Column II
& o= a. Tricuspid valve 1i. Between left atrium
. lefi icl
b, fao e i Srfed Fom T popEE o _ andleft ventricle
gt % g b.  Bicuspid valve ii. Betwe;en right
) ) ventricle and
c. AT HURH  iii.  erfed sfere W arfe pulmonary artery
fer = = c.  Semilunar valve iii. Between right
a b c atrium and right
(1) il i ii ventricle
. .. a b c
(2) i ii iii ] .
. . (1) i i ii
3 i iii ii
.. . 2 1 ii iii
4) i i iii . B
. . . 3 i iii ii
162. T I # < 718 7el o1 Ty 11 <t wel 9 fire shifse @ i ; G
IR f= few U fowmedt 4 @ @Rt fawew w1 =A
. 162. Match the items given in Column I with those in
Column II and select the correct option given
TaeT 1 L= 11 below :
a. SARE A i. 2500 — 3000 fa.<f. Column I Column II
b, a7dvaEE g i 1100 — 1200 fr.sf. a. Tidal volume i. 2500 — 3000 mL
STRA b. Inspiratory Reserve  ii. 1100 — 1200 mL
volume
c. Trvama gdfem iii. 500 — 550 fa.f. ,
c. Expiratory Reserve iii. 500 — 550 mL
CIRKE]
volume
d.  smaRme iv. 1000 - 1100 fa.<f. d.  Residual volume iv. 1000 — 1100 mL
a b C d a b c d
(1) il ii i iv (1) iii ii i iv
(2) i iv ii iii @ i iv ii iii
(3) iii i iv ii (3) iii i iv i
(4) v i ii i (4) iv i ii i
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163. T I 7 <} 18 Wel o1 ey 11 <l wel & firem fhifse
IR f= few MU fowmedi & @ @E? fasey w1 T

HIT

(1)
(2)
3
4)

164. T 1 9 <1 T8 Al 1 WY 11 H 7el ¥ e i
3t fiw few U fahedt @ ¥ &gt foaew &1 WA

&y I

()

HAfcrgen freie
T T HG

T3 I AT

T I HIET

a b
iv v
v iv
iv i

v iv

T

(1)
(2)
3
(4)

TTET [

TATSR T

JFhid gl
({et Sheere)

TS JaREY

a b
1ii il
il 111
i ii
iv i

wary I1
(3784 TF BT YTT)

i B A

i, TEETtE

i, TR

iv. B SivmR

v. EHoEy Hafad At

c d

ii iii
i ii

ii iii
i iii

Ty I1
i. el ¥ gfte o
HIE B
ii. g9 H fopeefcra wemn
foug

iii. T=S1 § JErEehdl

iv. I § TR HT BT

c d

iv i

i iv
1ii iv
ii iii

163. Match the items given in Column I with those in

164.

Column II and select the correct option given

below :
Column I
(Function)

a.  Ultrafiltration

b.  Concentration
of urine

c. Transport of

(D
(2)
3
4)

urine

Storage of urine

a b c
iv v il
v iv i
iv i ii
v iv i

Column I

(Part of Excretory
System,)

i. Henle’s loop

ii. Ureter

iii. Urinary bladder

iv. Malpighian
corpuscle

v. Proximal
convoluted tubule

d
iii
ii
iii

iii

Match the items given in Column I with those in

Column II and select the correct option given

below :

Column I
a.  Glycosuria 1.
b. Gout il.
c. Renal calculi  iii.
d. Glomerular iv.

nephritis

a b c
(1) i il iv
(2) i iii i
3) i il 1ii
(4) iv i il

Column II

Accumulation of uric
acid in joints

Mass of crystallised
salts within the kidney

Inflammation in
glomeruli

Presence of glucose in
urine

d
i

iv
iv

iii
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165.

166.

167.

fF=fefiga @ 8 sremtie vae fosr &1 Iergr w=
72
1)
(2)

Tafem

CICNE

(3) fafcrenmrar

(4) aSraehifd

eI U T H Shicwd HewqUl § Hifh I8
(1) T & gt Uded & afsha T & 3TmeR
I g21 1 @ AR % o |

Ufefes dq & AR S 1 I L < B |
AR TS & et 30 fhamsfiet shtar 7 |

RN g ¥ IR Uded dq & "= ey
fomfor =61 ket 2

(2)
3
4)

T [ & TS Hel o1 T 11 1 #el 8 e fifse
IR = few MU fowmeut @ @ @E? fawmew w1 =H
i

&Y [ &y 11

a.  WIEfHSH i N §qeH

b. AR i,  ToRI AT

c. UeeE iii. s fpatafy
a b c

(D qii i i

2) i iii ii

(3) i ii iii

(4) i iii i

168. ffafed & & SH-H ST HIfyerd Iy &9 9

TFdT]-3cafd # Weg S & ?
(1) H&F HIRERY
(2) A (Mecie) IR
(3) TISHT SHITTHTT
(4) T i3

165.

166.

167.

168.

Which of the following is an occupational
respiratory disorder ?

(1) Anthracis

(2) Botulism

(3) Silicosis

(4) Emphysema

Calcium 1is important in skeletal muscle

contraction because it

(1) binds to troponin to remove the masking of
active sites on actin for myosin.

(2) detaches the myosin head from the actin
filament.

(38) activates the myosin ATPase by binding to
it.

(4) prevents the formation of bonds between

the myosin cross bridges and the actin
filament.

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column 11

a. Fibrinogen i Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

(1) i ii i

(2) i iii ii

3) i ii iii

4) i iii i

Which of the following gastric cells indirectly

help in erythropoiesis ?

(1) Chief cells
(2) Goblet cells
(3) Mucous cells
(4) Parietal cells
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169.

170.

171.

172,

173.

174.

T O HIF-A1 HAT Ted & ?

(1) TCA =3 % USHATSH Ih{UIH! o omt § feoa
B3R
TATZHIATTH q9 doh BIdT & 9Te deh 38 FIEge
TS T 33M I NAD firerar Tear 2 |
TATSRIATTE HIIRITAT H HIS Bt & |
TR HICHINATHT  FAHURT T Tal
T § aRa g 2 |

950 § UHEM T mRNA § §9g Bl THAH
gifetucerse hl s giqai s 8 | UseEm <kl UEh
AT 1 FAT Fad & ?

1) =g

(2) wfEcem

(3) A«
(4) g

f=fafea § @ -8 Tinfys see 999 gafa=amE
%! afild s 8 ?

(1) e, feamedt, swad

(2) U, TehaRGT, JHE

(8) e, feamadt, fomwedt

(4) dreEcd, fgamed, fommedt

(2)

3)
4)

Terd e &1 === Hifee

(1) dugw e - fgug % geh
(2) SUHEThG! TR — L-STTehRI U
(3) vAEm — o Torg

(4) wEUER EA - UfFRREEl % 3TSh
e & fivg gerd: fohee o4 gid & 2

BIEAERCRTIRES
=[facs 37 @ SER
DNA Td RNA
Haq Tsaa™ W@ RER

% UgralfsHs edam (RER) § ffafeq # &
HH-H T 757 Bt ?

(1) W& 1 ged

(2) Hehd UeTsE H1 fage

(3) I 1 TATTHIGATH

(4) HIEHIfAfUs qyeyo

(1)
(2)
(3)
(4)

169.

170.

171.

172.

173.

174.

Which of these statements is incorrect ?

(1)

Enzymes of TCA cycle are present in
mitochondrial matrix.

(2)

Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

3
(4)

Glycolysis occurs in cytosol.

Oxidative phosphorylation takes place in
outer mitochondrial membrane.

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide
simultaneously. Such strings of ribosomes are
termed as

(D
(2)
6))
(4)

Polysome

Plastidome

Polyhedral bodies

Nucleosome

Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Homodont

(2) Pleurodont, Monophyodont, Homodont

(3) Thecodont, Diphyodont, Heterodont

(4) Pleurodont, Diphyodont, Heterodont

Select the incorrect match :

(1) Lampbrush — Diplotene bivalents
chromosomes

(2) Submetacentric — L-shaped chromososmes
chromosomes

(3) Allosomes — Sex chromosomes

(4) Polytene — Oocytes of amphibians
chromosomes

Nissl bodies are mainly composed of
(1)
(2)
(3)
(4)

Proteins and lipids

Nucleic acids and SER

DNA and RNA

Free ribosomes and RER

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1)
(2)
(3)
4)

Protein folding
Cleavage of signal peptide
Protein glycosylation

Phospholipid synthesis
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175.

176.

177.

178.

179.

180.

fferfaa § @ si-a1 =g guardt 737 8 2
(1) Fwiva

(2) Jdorg

(3) @

@) Rper

F=feifigd & @ $19-8 T T Sl 6l Ig=H e
il ¥ Hd 8 ?

(1) & I @ W Aiml & AR <kl 3Ufey
3uferfa

TR YN 3TeSe Higd 31U 9E

(3) U=O I i Iuredfd

(4) Tee@ 6t ufeufa

FAEh! TE b I g3l hH UgEH HIC ST
e T | i ud e g arfirafi

(1) UfFpfern

(2) T

(3) Tdfemn

(4) el

fafereem s @it Teser! & fhe R fim & 2

(1) I T o foTu SHamfiyert 1 T Hd &

(2) 3 RTPR I gehed & T grery 1 T R B

(3) T Afafiad a1 Febre & fore dgpasfia
ot Bt

(4) 3T < YR % hgh B o

freafefam # & FH-8 A HEE § qE e
w9 H W A 8 2

@))
(2)
3)
4)

(2)

AT
iR

PeATESH
Freafafad s=gei 8 @ ®F-8 =g FrRma 787w 2
(1) shge

(2) #iYg

(3) (ke
(4) TRiGw

175.

176.

177.

178.

179.

180.

Which one
homeotherm ?

(D
(2)
3
(4)

of these animals is not a

Macropus
Camelus
Chelone

Psittacula

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1) Presence of a boat shaped sternum on the
9" abdominal segment

(2)
3)

4)

Forewings with darker tegmina
Presence of caudal styles

Presence of anal cerci

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Amphibia
(2) Aves

3)
(4)

Reptilia
Osteichthyes

Ciliates differ from all other protozoans in
(D
(2)
(3)

using flagella for locomotion
using pseudopodia for capturing prey

having a contractile vacuole for removing
excess water

(4)

having two types of nuclei

Which of the following organisms are known as
chief producers in the oceans ?

(D
(2)
3
4)

Dinoflagellates
Cyanobacteria
Diatoms

Euglenoids

Which of the following animals does not undergo
metamorphosis ?

(D
(2)
3
(4)

Earthworm
Moth
Tunicate
Starfish
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1. Each candidate must show on demand his/her

L t@ H W Sl.i Ih qﬁ?m@ﬁ, rlieres =l a1 Admit Card to the Invigilator.
NCRIRCE ﬁ@'rq“
! . No candidate, without special permission of
9. arefieres o frlees i fasiy 343"4'&' ¥ for the querintendent or Invigilator, would
Eﬁé e WA T B | leave his/her seat.
. . The candidates should not leave the
3. HRg e + 31 IW A ﬁ{Q for uq Examination Hall without handing over their
Iuferfagas @ AN BEAIER feru fomm =8 Answer Sheet to the Invigilator on duty and
wfemelf wfien wfer =g ?ﬁ@ﬁ | 'ﬂﬁ{ et sign the Atten.dance Sheet tvvl'ce. Cases
w3 ar e = where a candidate has not signed the
& . i3 r ) Attendance Sheet second time will be
gEaTer T ﬁEQ LU gg =T S for 3@ deemed not to have handed over the
S UA q'gi"f et % AR I3 313'%!?[ agq Answer Sheet and dealt with as an
hHT HTHAT WHT SATUT | unfair means case.
e o o ¢ . Use of Electronic/Manual Calculator is
4. SAFCIHh/[ETHTAd TlLeheTeh bl IUINT JIS(d -
% prohibited.
|
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5. Tegia ° = & foru ghemeff qfierm < Regulations of the examination with regard to
ot QEI et e fafim & ) 313[&[?1 their conduct. in the Exe.xmmatlon Ha%l. All
Y S g qle % cases of unfair means will be dealt with as
FIT""F-I . . & per Rules and Regulations of this
i ud faf-remi < SafeCSIRN @TIT | examination.
6. frell ot grea d qdien jl(;\ddwl 3T 3¢ g3 |6 No part of the Test Booklet and Answer Sheet
F ﬁé AT 37T T L | shall be detached under any circumstances.
. . The candidates will write the Correct Test
7. qﬁ&ﬂ EIEEIEBIEEI( EER %quﬁm gliilﬂ;! Booklet Code as given in the Test
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fag | Sheet.
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